
Additional exercises X-chromosomal 
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H2: M and C are unrelated H1: M is mother to C 

Pr(10)=0.1 
Pr(11)=0.9 
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H2: M and C are unrelated H1: M is mother to C 

Frequencies 
Pr(9)=0.1 
Pr(10)=0.1 
Pr(11)=0.8 
 
Mutations 
Rate=0.001 
Range=0.1 
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H1: AGM is paternal grandmother to C. M is mother to C H2: AGM and C are unrelated. M is mother to C 

LR? (FamLinkX) 

Frequencies 
Pr(10)=0.1 
Pr(11)=0.5 
Pr(22)=0.05 
Pr(23)=0.35 
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Simulations 
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H1: AGM is paternal grandmother to C. M is mother to C H2: AGM and C are unrelated. M is mother to C 

Mean/median? Pr(LR>1000) 

Frequencies 
Pr(10)=0.1 
Pr(11)=0.5 
Pr(22)=0.05 
Pr(23)=0.35 
 
1000 simulations 
Seed=12345 
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H1: AGM is paternal grandmother to C. M is mother to C H2: AGM and C are unrelated. M is mother to C 

Mean/median? Pr(LR>1000) 

Decaplex 
 
1000 simulations 
Seed=12345 
 
 

http://famlink.se/Databases/0_Argentina_Decaplex_database.sav
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H1: AGM is paternal grandmother to C. M is mother to C H2: AGM and C are unrelated. M is mother to C 

Mean/median? Pr(LR>1000) 

Argus X12 
 
1000 simulations 
Seed=12345 
Use Merlin 
 
 

http://famlink.se/Databases/0_Argentina2_X12_database.sav

